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• Read: 
 

 
Human Skeletal System 

                          
      The skeletal system consists of all the bones 
of the body plus the joints where the bones attach 
to each other. Bone and cartilage, two types of 
connective tissue, are the major tissues of the 
system. The skeletal system supports the soft 
tissues of the body. Its bones protect the 
structures enclosed by them. Bones and joints, 
acting as levers, work with muscles to provide 
movement.  
Useful elements such as calcium are stored in 
bones.  
Red blood cells are produced in the red marrow 
of bones.  
The two main parts of the human skeleton are the 
axial skeleton and the appendicular skeleton. 
 
Unfamiliar words 
 
skeleton =    the framework of bones in a human 
or  
                    animal body. 
connective tissue = which joins, links, connect. 
marrow =     the soft substance in the hollow center of  
                     bones       
Underline the correct answer: 
 
1- The number of bones in the human skeleton is  
      usually: 
        a- 117       b- 53    c- 206       d- 152   
 
2- The nick bones are called: 
       a- thoracic vertebrae          b- cervical vertebrae     
       c- humours       d- lumbar vertebrae        
 
3- The shoulder blade is called:  
        a- scapula        b- ulna   c- clavicle    d- thigh  
 
4- The bones of the fingers and toes are called: 



        a- vertebrae   b- the ulna    c- phalanges   d- joints 
 
5- From young adulthood to old age, the main changes  
        in bones are:  
        a- size         b- importance            c- function     
        d- texture and contour of margins and bone  
            markings. 
 

• Spelling: 
 

1. What is the longest word in the dictionary? 

2. What starts with T, ends with T, and is full of T? 

3. What’s the difference between a locomotive engineer and a 

schoolteacher? 

• Problem solving: 
 
Chelsea makes lemonade that costs 2 cents per cup. 
She sells it at 7 cents per cup. 
How much profit will she make if she sells 300 cups. 
 
 

• Understanding Idioms: 
 
Read the sentence. Choose the best meaning  
for the underlined words.  

 
1- We had planned a surprise party for Mary tonight,  
    but our plans fell flat when she left to visit her aunt. 
 

a- Our plans fell on the floor.   
b- We had to cancel our plans  
c- We dropped the invitations. 
d- Mary knocked down the plans.  

 
2- We’d hoped to make fifty dollars from our balloon sale, but we fell short of 
our goal. 
 

a- The short goal fell down. 
b- We fell down near our goal. 
c- We failed to reach our goal. 
d- We were not tall enough to reach our goal.  


